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���� x1, . . . , xn �� ������ xi = max{x1, . . . , xi} ����
�
i = 1, . . . , n� ������

n−1∑
i=1

xi(xi+1 − xi) =

n−1∑
i=1

xi(xi+1 − xi) + xn(xn − xn). (1)
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n−1∑
i=1

f(xi)(xi+1 − xi) =
n−1∑
i=1

f(xi)(xi+1 − xi) + f(xn)(xn − xn) (2)

������ 
���� ������� f : R → R� �������� 	�

�������� �� ���� �
 -����.
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 ��
����� ����� a0, a1, . . . , an �� y1, . . . , yn ���� ��������
�
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yi �= 0⇒ ai = ai−1 ������ i = 1, . . . , n. (3)
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anyn = an−1yn =
n∑

i=1

ai−1(yi − yi−1). (4)
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aiyi = ai−1yi ������ i = 1, . . . , n. (5)
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�
��� �?� ���� ���	���� 	��� yi = 0� ��� 	��� yi �= 0�
�
�	���� �2� �
����� ai = ai−1�
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��� �A� ��!���� 	�� �?� ������ i = n� * 	
��
�-������� 	�� �
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−a0y0 + (a0y1 − a1y1) + . . . + (an−2yn−1 − an−1yn−1) + an−1yn;
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 �������� �?� ������ i =
1, . . . , n− 1� �
�
��� �A� ���� ������ 	�

�������� �
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�
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����� ����� x1, . . . , xn �� 	�&��
 x̄i = max{x1, . . . , xi} ������ i = 1, . . . , n�
$
������ �� x0 = x0 = 0� *������ �
���	����	 yi := xi − xi �� ai := f(xi)
������ i = 0, 1, . . . , n �� 
���� ������� f : R→ R� �	��������� �A� �
����� �	��.
������� �'�� ����.�	����� �
�	���� �2� ���� ����������� 	�
����� xi �= xi �
�����
xi = xj ������ �� ��	��� j ∈ {1, . . . , i−1}� 	��� xi = xi−1 ������ i = 1, . . . , n�
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f(xn)(xn − xn) =

n∑
i=1

f(xi−1)(xi − xi−1 − xi + xi−1)]

=

n−1∑
i=0

f(xi)(xi+1 − xi − xi+1 + xi),

	���

n−1∑
i=1

f(xi)(xi+1 − xi) + f(x0)(x1 − x0) =

n−1∑
i=1

f(xi)(xi+1 − xi)

+f(x0)(x1 − x0) + f(xn)(xn − xn).
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 x∗i = max{|x1|, . . . , |xi|} ������ i = 1, . . . , n� *������
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(6)
n−1∑
i=1

f(x∗i )(|xi+1| − |xi|) =
n−1∑
i=1

f(x∗i )(x
∗
i+1 − x∗i ) + f(x∗n)(|xn| − x∗n).

����.�	����� 	�&��
 x0 = x∗0 = 0 ��� �
���	����	 yi := x∗i − |xi| �� ai := f(x∗i )
������ i = 0, 1, . . . , n� 
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n∑
j=0

/	{xj=0} ������ i =

0, 1, . . . , n1
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���� x0 = x0 = x0 = 0� yi = xi − xi �� ai = f
( i∑
j=1

/	{xj=xj}
)
, ��	�

xi = |min{x1, . . . .xn}| ������ i = 0, 1, . . . , n �� 
���� ������� f : R→ R�
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 � ������ �� !��� "����� ��� �����-3��� ��
���� ABC ��
BC < AB = AC� H����	 �� � ���� �������� D ∈ (AC) �� E ∈ (AB) ������
$���� AD = DE = EB = BC� 	����
����� 
������� ��-3�����
� �����-3�����
ABC�

#������� )
���	���
 ������� F ∈ (AC) ������ $���� DE = EF �

A

B

C

D

E

F

I
��
 �A = x� ��
����� AD = DE ��!���� �DEA = x �� �EDF =
2x� ��
����� DE = EF ��!���� �EDF = �EFD = 2x� 	��� �DEF =
180◦ − 4x�

��
����� �BEF = 180◦−�DEA−�DEF = 3x� ��!���� �� �EBF =
180◦ − 3x

2
� 	��� �CFB = �ABC − �EBF =

180◦ − x

2
− 180◦ − 3x

2
=

x� >�!���� �� �BFC = 180◦ − x − 180◦ − x

2
=

180◦ − x

2
= �BCF � 	���

�����-3��� BCF ���� ��
����� �� BC = BF � )�
� 	�� ��
��!�� BE = BC
�� EF = DE = BC� 
�����
 �� BE = BF = EF 	��� �����-3��� F%� ����
��3��������� ,��� ��
��� m (�BEF ) = 3x = 60◦ 	��� x = 20◦�

6������� ��-3�����
� �����-3����� ABC ����" �BAC = 20◦� �ABC =
80◦� �ACB = 80◦�
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�.
��� ABC �� AB = AC� �BAC = 20◦ �� �� �
���������� �����-3��� BCD
��
����� �� BC = CD �� �CBD = 20◦� ��

������� �� AB = BC +BD�
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